
Exercise= lo e) 
White the Cordinal number of each of thhe 
looing Sets 

A 0,1,2, 4 

-3-1 3,5;7 
2 

3N otwral numbes be hwecn IS and 2o 

LP 3whole numbe dm alY2 

Gveen Naxal numbem lesn than lo 
Letens of the d PuPpET'3 

C23 Sasuanes of the t au whdlee 
hum bers 5 

D 3Odd numbers dhisible b4 2 

ind 
n CA) A1.22,15,6,12,14 



Date 
Paga 

nC) 6P,U, E,T 

Cbl, nC 

n(D)_ D or 

3State Tue Lake for eceh df the tollain 
Camrect the uong_ statement ng 

E A 0then nA)= 0_ta 
(mect State ment n(A) =| 

Palse 
Lanrect atatement=n(B)-0 

ttf T aa, hbdh) then n(T)= 5 

l, 5,S1,15,5,1then n)6 

Cet statement=n(L 
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